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Q2. (d) | Advise Production Parts PLC which is the best option for investment based
on the quantitative information you have. [6]
AO2 AO4
Band
3 marks 3 marks
3 marks 3 marks
Excellent application to the Excellent evaluation of the options is made.
guantitative data is made.
The evaluation is well balanced and will
There is consistently clear and direct | focus on the key issues.
reference to the data, and several
3 parts of the data are used to form a Clear reference to the context is given to
judgement. support judgement, and relevant
judgements are made with qualifying
statements used to build an argument.
A holistic evaluation may be offered and it is
likely there is an overall conclusion.
2 marks 2 marks
Good application to the quantitative Good evaluation of the options.
data is made.
The candidate makes judgements as to
2 There is clear and direct reference to | which is the best option that are often
the data. supported and balanced.
Information in the data is used in The answer is likely to contain a brief
development. conclusion.
1 mark 1 mark
Limited application to the quantitative | Limited evaluation of the options.
data is made.
1 Unsupported judgements are made.
The response is mainly theoretical,
with limited reference made to
guantitative data.
0 0 marks 0 marks
No application is shown. No evaluation is shown.

Indicative content:
OFR applies.

According to payback, the best option is Machine A as it pays back 2 months quicker. This could
be argued as quite a minimal difference, but as Machine B only takes an extra 2 months to pay
back a substantially larger initial investment, this could be argued to be a better payback.
However, this highlights the main downside of payback in that it is a very simplistic method.

According to ARR, the best option is Machine B with a 1.25% higher ARR. Both of the ARR
figures are likely to be higher than if the cash was invested in the bank, but investors are pleased
with higher returns so would prefer Machine B.

According to the raw data, the cash flow for Machine A is lower than B, and also starts to decline
after year 4, whereas it continues to increase throughout all years for Machine B. So according to
this data Machine B might seem the better investment.

Overall, it is likely that Machine B is the better investment, but it depends if the business has
enough capital to fund the substantially larger initial investment.















A02-2
A04-2



Sticky Note

This response was awarded 4 out of 6 marks, with a breakdown of 2 AO2 marks and 2 AO4 marks. 

The first paragraph considers the difference between the ARR figures, but only makes a relatively low-level judgement of the higher the better. The second paragraph then goes on to discuss payback. The first sentence of this paragraph is again quite low level, choosing the quicker payback as the better option. Then the second sentence is stronger by judging the minimal difference between the two figures concluding that it makes it difficult to decide. This was much stronger AO2 and AO4 than the first paragraph as it gave context-based judgement. 

There is then a conclusion given where the best machine is advised. There is the potential for excellent AO4 with the comment about the importance in payback when making the decision, but this was not fully explained and supported to justify the top band. Equally so, the top band for AO2 was not awarded in this instance as the response did not reference other forms of quantitative data such as the initial cost or the changing cash flows, which would have added more context to the response. 











A02-2
A04-3



Sticky Note

This response was awarded 5 out of 6 marks, with a breakdown of 2 AO2 marks and 3 AO4 marks. The response begins with making an initial judgement which machine is better which is credited with some low-level AO4. This is then justified further by referring to the higher ARR and quicker payback times. The AO4 then becomes quite sophisticated with a judgement that it would be better to wait for the longer payback of 2 months to benefit from the higher return. This is context-based judgement which helps award higher level marks. 
The end of the response then gives some more AO4. When referencing the fact that there is no information on the cash flow of the business (not the investment), this is bringing in a conditional judgement to support the recommendation of which machine to buy, which is why the response was awarded all 3 AO4 marks. However, only 2 AO2 marks were awarded as it was felt it could have used more of the quantitative information provided such as the initial cost of the machine or the cash flow figures. 





















A02-3
A04-3

This response was awarded full marks - 6 out of 6. The response was awarded the full 3 AO2 marks as it discusses the ARR, the payback and the initial cost so uses three

different pieces of quantitative information. Despite own figure rule being used in the interpretation of the payback figure, the response is clearly and consistently
referencing the given data for the arguments made.

In terms of AO4 marks, the response starts by giving an overall judgement of which is the best machine and so this is some limited judgement awarded at the start. The
remaining AO4 marks are mainly credited at the end of the T'esponse. Firstly, the statement ‘depends on how much finance Production Parts has available’ is a good
conditional statement affecting the judgement based on the initial cost. This was strong AO4 as it was applied to the context. And then finally a judgement in the fact that

there is not much of a difference between the ARR figures was holistically enough to award all the AO4 marks.










2 (d) Advise Production Parts PLC which is the best option for investment based on the
quantitative information you have. [6]











































































Q4. (d)

With reference to your answers for question (b) and (c) and qualitative

information, evaluate Jumping Jacks Ltd’s expansion plan. [10]
AO2 AO3 AO4
Band
3 marks 3 marks 4 marks
3 marks 3 marks 4 marks
Excellent application to Excellent analysis of the | Excellent evaluation of
Jumping Jacks Ltd. data and the expansion suitability of the
plans. expansion plans.
The candidate makes
consistent and direct The analysis is detailed The evaluation is well
reference to the context | and logical and balanced and will focus
that is embedded considers the impact of on the key issues.
throughout the whole information from parts b,
response. ¢ and qualitative Clear reference to the
3 information. context is given to
Application to the context support judgement, and
is used in the relevant judgements are
development and the made with qualifying
judgement within the statements used to build
response. an argument.
A holistic evaluation may
be offered and it is likely
there is an overall
conclusion.
2 marks 2 marks 2-3 marks
Good application to Good analysis of the Good evaluation of
Jumping Jacks Ltd. data and expansion suitability of the
plans. expansion plans.
There is clear and direct
5 reference to the data. The response draws on | The learner makes
parts b, ¢ and/or partial judgements, with
Information in the data is | qualitative information. some attempt to support
used in development. their evaluation.
Some analysis is logical
and well developed. The answer may contain
a brief conclusion.
1 mark 1 mark 1 mark
Limited application to Limited analysis Limited evaluation of the
Jumping Jacks Ltd. expansion plans and the | suitability of the
financial position. expansion plans.
The learner response is
1 mainly theoretical with Analysis is superficial Unsupported judgements
limited use of the data. and undeveloped. are made.
The analysis only The answer may be one
considers some of the sided.
data.
0 0 marks 0 marks 0 marks

No application is shown.

No analysis is shown.

No evaluation is shown.






Indicative content:

The working capital figures suggests that their liquidity position has worsened following a
decrease from 2021 to 2022. This has mainly been caused by the increase in the overdraft
and creditors and could indicate future problems in meeting short term liabilities. Additionally,
the stock figure has increased, which could mean they have more difficulty converting their
current assets into cash, further worsening their liquidity position. This would also suggest
that expansion may not be suitable in the short term, although is not likely to have a huge
impact on their short-term financial position or working capital.

There has been an increase in gearing from 2021 to 2022, suggesting the firm is more
reliant on borrowed money, mainly caused by the increase in non-current liabilities. At the
higher level of 36.84%, it still does not class as high gearing and so the investment in the
new production technology would not seem too worrying with their current gearing figure,
depending on how much it was going to cost to finance.

Whilst the financial position seems to have worsened from 2021 to 2022, there are some
positives such as the value of their buildings has increased, and they are holding more cash.
Some of this cash could be used productively to finance the new expansion.

From a qualitative point of view, it is only forecasted that demand will increase. If this is
inaccurate or overly optimistic forecasting, or if any external factors affect this, then the
expansion may not be worth it. Additionally, the capital intensive system may mean
redundancies are made which can be bad for reputation and staff morale.

If the firm invested in the just-in-time system as planned, they would hold less stock. This
could be used to pay off some of the creditors, which would strengthen their liquidity position
in the long term.

Overall, it seems the company is in a position to be able to make the investment, as the
gearing is not considered high and it would increase the value of their non-current assets,
further strengthening the balance sheet. However, it depends on the cost of the investment
as we are not told of this.

OFR applies to the interpretation of parts b and c.










A02-2
A03-2
A04-2













Sticky Note

This response was awarded 6 out of 10, gaining two marks for each assessment objective, putting it as a ‘good’ answer. The response begins with a strong paragraph considering the gearing ratio. It makes a judgement early on that with a low gearing ratio they will probably be granted finance for the expansion. This is some good context-based judgement, and some lower level AO3 looking at the impact of a low gearing ratio. Towards the end of the paragraph, the argument gets a little repetitive, coming back to the same argument as at the start. 
The second paragraph looking at working capital is brief. Although there is some knowledge shown of what working capital is, the judgement of the change – ‘result in them struggling financially’ is weak and very vague. This paragraph has not shown any AO4 judging the working capital level/change, and so not much credit is awarded here. 
The next two paragraphs consider the impact of using a capital-intensive production method. Whilst this is some good AO3, there is no link to the context here to say whether this would be a good or a bad investment for this business. This is one of the reasons why AO2 was capped at Band 2, because the qualitative argument was not applied. 
The beginning of the conclusion is credited with some AO4 as it gives a final response to the question, as well as linking this into the data calculated. The rest of the conclusion is a little disjointed and doesn’t support the points given or link to the context, which is why AO4 was kept at the lower end of Band 2. 
















A02-3
A03-3
A04-3













Sticky Note

This response was awarded 9 out of 10 marks, with a breakdown of 3 AO2 marks, 3 AO3 marks and 3 AO4 marks. The structure is clear to follow, with the first half examining why the expansion might not be a good idea followed by an argument why it is and a conclusion. This was a less common approach to the structure but did work well to ensure the response focussed on answering the question throughout. 
The first paragraph focussing on working capital is very strong, especially in terms of AO3. The decrease of 41.67% is referred to and a cause of this picked from the data showing good AO2. The paragraph then explains the impact of this in lots of detail with several chains of analysis given. In the later part of the argument, it provides a counter point by looking at gearing and judging that this is still at a low level and so borrowing for the expansion would be acceptable. (However, this would more likely affect long term liabilities than current liabilities unlike the argument given). 
The second paragraph looks at qualitative information that is heavily focussed on the context of being part of an established business and how its experience would help implement effective expansion. The response then brings in more AO2 of its contracts with Argos and makes a judgement that this is a good measure of success – context-based judgement such as this helps achieve higher levels. This paragraph is less well analysed as it brings in quite a few separate arguments but does bring in more AO4 with a recommendation that liquidity needs improving before they expand. Although this doesn’t really fit with the current argument, it is a relevant judgement based on the earlier analysis of working capital. 
The conclusion of the response is less well written as it doesn’t particularly focus on answering the question, which is perhaps one of the reasons why top AO4 marks were not awarded in this case. Although a conclusion is not essential to access Band 3, the holistic evaluation throughout the response was not strong or consistent enough without the support of a conclusion to be awarded full marks.  
















A02-2
A03-3
A04-3








Sticky Note

This response was awarded 9 out of 10, with a mark breakdown of 3 AO2 marks, 3 AO3 marks and 3 AO4 marks. The response follows a clear structure, first visiting gearing, then working capital, then qualitative arguments and with a clear conclusion. The focus stays continuously on the suitability of expanding, whereas a lot of lower scoring responses commented on the financial situation without referring to the expansion plans. 
AO2 was shown consistently throughout the answer. There were lots of references to the calculations made in the earlier parts of the question, and to the use of a capital-intensive production system. The response also links to the current quality problems that are being faced by the company and judges how the expansion plan would help resolve these. In addition to considering the current figures, the response considers how these might change following the expansion plan, which shows higher level use of AO2 and AO4. A lot of responses to this question focussed heavily on the change of the figures, (i.e. working capital is bad because it had decreased), but this response looked beyond that and how they still have money left to fund day to day activities. 
The conclusion of this response is detailed. It begins with an answer to the question that is supported with a reason. This is then qualified with a context-based judgement of expanding via robotics being quite expensive, especially as gearing and working capital has worsened. There is also a conditional statement considering that it depends how much available finance Jumping Jacks has, but also a longer-term impact analysed once the growth has been achieved. 











4 (d) With reference to your answers for questions (b) and (c) and qualitative information,
evaluate Jumping Jacks Ltd’s expansion plan. [10]
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Q6. Evaluate the usefulness of cost benefit analysis to the UK Government when
deciding on investing in the development of smart motorways. [10]
AO2 AO3 AO4
Band
4 marks 2 marks 4 marks
4 marks 4 marks
Excellent application to Excellent evaluation of the
the context. usefulness of cost benefit
analysis to the government.
The candidate makes
consistent and direct The evaluation is well
reference to the context balanced and will focus on
that is embedded the key issues.
throughout the whole
3 response. Clear reference to the
context is given to support
Application to the context judgement, and relevant
of this being a Judggments are made with
government project is qualnfymg statements used
used in the development to build an argument.
;nedrtglsepgjfsgeement within A holistic evgl_uat_ion may be
' offered and it is likely there
is an overall conclusion.
2-3 marks 2 marks 2-3 marks
Good application to the Good analysis of the Good evaluation of the
government and its usefulness of cost usefulness of cost benefit
investment in Smart benefit analysis. analysis.
motorways.
Some analysis is logical | The learner makes patrtial
There is reference to the and well developed with | judgements, with some
2 data, which is used in the | attempted chains of attempt to support their
development. reason. evaluation.
Some reference to the
context may be given.
The answer may contain a
brief conclusion.
1 mark 1 mark 1 mark
Limited application to the | Limited analysis of the Limited evaluation of the
context. usefulness of cost usefulness of cost benefit
benefit analysis. analysis.
The learner response is OR
1 | mainly theoretical with A cost benefit analysis | Unsupported judgements
limited use of the data. of smart motorways is are made.
conducted
The answer may be one
The analysis is brief and | sided.
undeveloped.
0 marks 0 marks 0 marks
0 No application to the No analysis shown. No evaluation shown.

context.






Indicative content:

Cost benefit analysis (CBA) is a method of measuring, in financial terms, the costs and
benefits of an investment project, but includes a consideration of the external costs and
benefits to society as well as the costs and benefits to just the business.

Cost benefit analysis is useful because it takes into account all factors, private and social
costs and benefits, and attempts to put a monetary value on them so that they can easily be
compared.

Advantages:

e Takes into account a wide range of benefits and costs.

¢ Impacts on society and the community are included.

e Puts a value to external benefits and costs that would normally be ignored by private
sector businesses.

e Can be used to rank possible major projects in order of public costs.

Disadvantages:

e The valuation of intangibles can be difficult — valuation will often include value
judgements which may differ from person to person.

o If the social costs and benefits are incorrectly calculated then the wrong choice may be
made.

e Hard to include all stakeholders, as some may be secondary impacts.

In this scenario it is part of a long-term strategy to improve the motorway network and as
such is likely to be well thought out with lots of issues considered.

Possible costs/benefits may include:

Costs

e A minimum of £5.7bn

e Traffic disruption during the roadworks

e Reduced speed limits slow travel

e Dangerous driving with variable speed limits being confusing to follow and more
accidents with broken down vehicles on the hard shoulder

e Opportunity cost of government spending

Benefits:

e Reduces congestion so will reduce lost earnings from traffic jams

¢ Intheory, safer roads with reduced speed limits at busy times.

¢ Businesses who are working on the projects — increased revenue.

e Less traffic jams/consistently moving traffic — better for the environment?

It could be noted that when it is a government investment such as this, public benefits are
often similar to private benefits as the government is making decisions on behalf of society.

Overall, having a cost-benefit analysis is often better than no cost benefit analysis, but there
are many uncertainties that could in practice negate the conclusions of the study, such as
changing costs. Ultimately, CBA will have proved useful to some extent as the government
have to be accountable for their spending and it helps make an informed decision of how
best to spend their limited funds. The usefulness depends on a number of factors:

e The accuracy of the predictions

e The level of detail and research in the cost benefit analysis

e Does the government actually use the document or is it just a formality.
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A02-3
A03-2
A04-3













Sticky Note

This response was awarded 8 marks out of the 10 available, 3 AO2 marks, 2 AO3 and 3 AO4 marks. 

The first paragraph gives an explanation of what cost benefit analysis is, including the use of the key terms of public and private costs and benefits. As lots of responses were vague with linking the theory to the case study, so it was pleasing to see when candidates used specific key terminology like this. Additionally, most responses failed to link the key element of it being a quantitative analysis tool, so the last sentence of this first paragraph was pleasing to see as it referred to quantifying the costs and benefits. 

The start of the next paragraph strays away slightly from the question and looks at benefits and drawbacks of smart motorways rather than of cost benefit analysis theory. Some AO2 was credited here but did not get awarded any AO3 or AO4. There were lots of other responses across the board who focussed solely on this which limited their marks. During this paragraph however, it reverts back to the point of the question and analyses the purpose of the theory to the government. 

The response brings in some context-based judgement stating that it is especially important to consider for such an expensive project, which was credited with both AO2 and AO4 marks. The response then brings in a counter argument of certain factors being difficult to quantify, which was credited with further AO3 marks as it is considering the usefulness of the theory. However, it would have been stronger if this point was linked into an example to bring the AO2 and AO3 together. 

The next two paragraphs then look again at project-based benefits and drawbacks, which is limited to AO2 marks. The conclusion is lengthy and summarises the overall usefulness which gives an answer to the question. The AO4 marks were pushed up to 3 for the last two sentences which made recommendations that the model requires expertise to complete and ensure there is no bias. Some overall context-based judgement on the government project may have helped increase the overall marks. 
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A02-2
A03-1
A04-1



Sticky Note

This response was awarded 4 out of 10, with the breakdown of 2 AO2 marks, 1 AO3 mark and 1 AO4 mark. The response starts off using some key terminology looking at public costs and benefits and then goes on to give some examples of the costs and benefits. This picks up some AO2 marks, but limited AO3 marks as it doesn’t say what the purpose of looking at these would be to directly respond to the question. However, the response is clearly in context as it makes reference to being funded by taxpayers. The next section of the response also only considers the benefits and drawbacks of the project and not of the model. 

The response then has a conclusion which brings together the answer but only gives a very limited judgement, as the justification of being quick and doesn’t need experts is not valid. The last sentence of the response shows some limited AO3 to refer to the usefulness of the theory in comparing costs and benefits. 
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A02-2
A03-2
A04-2



Sticky Note

This response was awarded 6 out of 10, with the breakdown of 2 AO2 marks, 2 AO3 marks and 2 AO4 marks. This response follows a fairly clear and simple structure, giving a benefit and a drawback of using cost benefit analysis, along with key terms like social costs. Although a little repetitive, the first paragraph identifies the key benefit of assessing how different community groups are affected and then following an example brings it back to helping governments make decisions. This benefit is awarded some AO2 and AO3 marks, although the example given doesn’t completely link to the given argument. At the end of this paragraph, some AO4 is awarded with the comment of ‘must be based off reliable data’. Although the supporting statement is an invalid example, this judgement was enough to award some limited AO4 marks.
 
The response then goes on to explain the downside of it being difficult to include all stakeholders. This is then awarded some more AO3 to analyse the usefulness of the model and gives a potential example (albeit not entirely specific to the case). 

The response then finishes with a conclusion. It starts by making some low-level judgement and justifies it vaguely by helping to make the best decision. It then brings another AO4 phrase in about the reliability of data. As this is a repeat of the earlier AO4 point, coupled with a simple overall judgement, this was awarded 2 AO4 marks overall. 





















Over several years, the UK Government has been investing in upgrading many of the country’s
motorways to smart motorways, which have more lanes and the ability to change speed limits
at busy times, with the main purpose of reducing congestion on the busiest sections.

The government has so far spent £1.2bn on projects around the UK, and as part of the
next phase has allocated a minimum of another £4.5bn to develop new sections of smart
motorways, although this figure could rise to £7bn.

Highways England is a business which works with the government and is responsible for
managing these projects. It has awarded 10-year contracts to six private sector businesses.

Highways England has stated that these projects should increase efficiencies and decrease
costs as they will follow a standardised design with common elements across all projects
managed by the six private sector businesses.

Despite reducing congestion, smart motorways have come under criticism. There are fears
that variable speed limits are too complicated for drivers and that the removal of a hard
shoulder makes it more dangerous for broken down vehicles.

During the upgrading process, which can often take several years to complete, the roadworks
can mean the lanes are narrower and reduced speed limits are imposed which often cause
delays and an increased number of accidents.

Evaluate the usefulness of cost benefit analysis to the UK Government when deciding on
investing in the development of smart motorways. [10]












































































































